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CHEMISTRY

BOOKS - PEARSON IIT JEE FOUNDATION

ACIDS, BASES AND SALTS

1. How is the concentration of hydronium ions

(H30+) affected when a solution of an acid is

diluted?

‘ ° Watch Video Solution


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_D8NlgSoD3OUd

2. Give reasons for the following :

(i) Metal oxides generally react with acids. However,
zinc oxide reacts even with sodium hydroxide.

(ii) Heat of neutralisation value for the reaction of
HCl and NH4OH is less than 13.7 kcal/mol

(iii) All indicators are not suitable for all titrations

° Watch Video Solution

3. Explain the action of phenolphthalein indicator

in the titration of acetic acid, sodium hydroxide

| o |


https://dl.doubtnut.com/l/_D8NlgSoD3OUd
https://dl.doubtnut.com/l/_SP0BAnVW0Agd
https://dl.doubtnut.com/l/_FeKXLBqhvViA

| W Watch Video Solution

4.1s a solution with pH 6 acidic, basic or neutral ?

Justify

o Watch Video Solution

5. Define salt hydrolysis. Explain the nature of
aqueous solution of CuSO4, on the basis of the

above phenomenon

° Watch Video Solution



https://dl.doubtnut.com/l/_FeKXLBqhvViA
https://dl.doubtnut.com/l/_qhEVzLSqUYuv
https://dl.doubtnut.com/l/_w3AyR6EnQOY5

6. Explain the amphoteric nature of zinc oxide and

aluminium oxide

° Watch Video Solution

7.How do you identify the following cations in their

aqueous solutions by using caustic soda solution ?

(i) Fe 2 (i) Zn ™2 (iii) Al T3

° Watch Video Solution



https://dl.doubtnut.com/l/_O8O0Yf0YnF4i
https://dl.doubtnut.com/l/_5cp3BKV2A1rm

8. What is the use of an indicator in titration ?
Name the indicator used when sodium hydroxide is

titrated against sulphuric acid

o Watch Video Solution

Very Short Answer Type Question

1. What is meant by ionic product of water ?

o Watch Video Solution



https://dl.doubtnut.com/l/_qElC50vJtbDD
https://dl.doubtnut.com/l/_wpKSI22tNWV9

2. Give examples of some acidic substance without

H ™ ions

° Watch Video Solution

3. Which acids/base are used for the following ?
(i) to neutralise string of wasps
(ii) in alkaline batteries

(i) manufacturing of soap

° Watch Video Solution



https://dl.doubtnut.com/l/_m9YMGV56wg98
https://dl.doubtnut.com/l/_DYEC7XZ3XQDJ

4. Define oxyacid. Give two examples

o Watch Video Solution

5. According to Bronsted - Lowry theory

neutralisation reaction is the formation of

o Watch Video Solution

6. Give one example of acid-base reaction without

formation of water

o Watch Video Solution



https://dl.doubtnut.com/l/_VIgRsmVKZxvY
https://dl.doubtnut.com/l/_SvKQ5Dbdec01
https://dl.doubtnut.com/l/_OyxwvqqSD4yB

7. X+ H,O — Y.Y is used to remove grease

stains from woollen clothes. Identify X and Y

o Watch Video Solution

8. How do neutral, acidic and basic salt solutions

respond to litmus test ?

o Watch Video Solution



https://dl.doubtnut.com/l/_OyxwvqqSD4yB
https://dl.doubtnut.com/l/_lmyEgMysS8R9
https://dl.doubtnut.com/l/_Ssb3XHbqQ7tx

9. Give examples of some basic substances without

OH ~ ions

° Watch Video Solution

10. How does a complex salt dissociate in its

aqueous solution ?

° Watch Video Solution

11. What is the principle involved in the preparation

of FeCls



https://dl.doubtnut.com/l/_ek7HCeMCcxX1
https://dl.doubtnut.com/l/_sn4DIwF8a0Fz
https://dl.doubtnut.com/l/_SpUsLiwSNjCe

| @ Watch Video Solution

12. In the equation X + HCl — NaCl + H,S,

what is X ?

o Watch Video Solution

13. Mention any two methods of preparation of

acids. lllustrate with equations.

o Watch Video Solution



https://dl.doubtnut.com/l/_SpUsLiwSNjCe
https://dl.doubtnut.com/l/_ZmTgIy7AhvFP
https://dl.doubtnut.com/l/_CjfJpIGbHw56

14. How are basic salts formed ?

o Watch Video Solution

15. How are soluble salts prepared by direct

combination ? Give an example

o Watch Video Solution

16. lllustrate any one method of preparation of

bases with equations

o Watch Video Solution



https://dl.doubtnut.com/l/_I9CYOwSAf7st
https://dl.doubtnut.com/l/_WiT0tjw8h97p
https://dl.doubtnut.com/l/_c6dmeS16hh8W

17. What is the pH range in which phenolphthalein

is colourless ?

o Watch Video Solution

18. Name the insoluble salts that can be prepared

by direct combination ?

o Watch Video Solution



https://dl.doubtnut.com/l/_c6dmeS16hh8W
https://dl.doubtnut.com/l/_IraizyHeU4PS
https://dl.doubtnut.com/l/_Nqu8UdSAUd5R

19. What are the pH values of the following
solutions at 25°C' ?

(i) 0.001 M of HClI

(i) 0.05 M of H,SO,

(iii) 0.01 M of NaOH

o Watch Video Solution

20. The formula of the basic salt formed by treating

calcium hydroxide with HCl is

o Watch Video Solution



https://dl.doubtnut.com/l/_tQxAEaAXNzHQ
https://dl.doubtnut.com/l/_PMN4lbKToDZi
https://dl.doubtnut.com/l/_UhyIiMLr21TH

21. Which method is employed for the preparation

of sulphate of Ba, Ca and Pb ?

° Watch Video Solution

22. Define pH and give its mathematical

representation.

° Watch Video Solution

23. What would be the nature of aqueous solution

of the following salts ?

(i) KNO,


https://dl.doubtnut.com/l/_UhyIiMLr21TH
https://dl.doubtnut.com/l/_W1Z3xfvIkXB2
https://dl.doubtnut.com/l/_6QPqDPHLwqtk

(II) NCLQCO3

(iii) CH;COONa

° Watch Video Solution

24. Define basicity of an acid. Give an example each

for monobasic, dibasic and tribasic acids.

° Watch Video Solution

25. Normality of 0.01 M aluminium hydroxide is

(assuming complete ionisation)

° Watch Video Solution



https://dl.doubtnut.com/l/_6QPqDPHLwqtk
https://dl.doubtnut.com/l/_2730mRujMIzV
https://dl.doubtnut.com/l/_pbXSvGIfLXLT

26. Write the equation for the action of a dilute

acid on a metal oxide.

° Watch Video Solution

27. The hydroxyl ion concentation of soidum

hydroxide having a pH value of 12,at 25° C'is

° Watch Video Solution



https://dl.doubtnut.com/l/_pbXSvGIfLXLT
https://dl.doubtnut.com/l/_ioAU4Xxe4y1B
https://dl.doubtnut.com/l/_Odx5k06i1MlT

28. Mention the steps involved in ionsiation of

phosphoric acid

° Watch Video Solution

29. Non-metallic oxides are either or in

nature.

° Watch Video Solution

30. The number of ions produced by one mole of

[CO(NH3)6] Cls in its aqueous solution is


https://dl.doubtnut.com/l/_dh1uc9QWjKPv
https://dl.doubtnut.com/l/_oTCv0wkR5Ga6
https://dl.doubtnut.com/l/_y8u1mbVhrhEt

A2

B.3

C.10

D.4

Answer:

° Watch Video Solution

Short Answer Type Question

1. What is meant by a universal indicator ? State the

colour given by a universal indicator to the


https://dl.doubtnut.com/l/_y8u1mbVhrhEt
https://dl.doubtnut.com/l/_4x28QDHfQuGZ

solution of following pH values
(i) pH=1(ii)pH =8

(iii) pH = 5 (iv) pH = 12

° Watch Video Solution

2. How is NH,OH helpful as a reagent for the
analysis of cations in the aqueous solutions fo

their salts ? Give equations.

° Watch Video Solution



https://dl.doubtnut.com/l/_4x28QDHfQuGZ
https://dl.doubtnut.com/l/_MPvztJ6dmIEI

3. What is meant by acidity of a base ? Give the
acidities of the following bases.
(1) caustic potash (ii) slaked lime

(iii) aluminium hydroxide

° Watch Video Solution

4. Define indicator. Why are different indicators

used in different pH ranges ?

° Watch Video Solution



https://dl.doubtnut.com/l/_t3meEmHVS4DS
https://dl.doubtnut.com/l/_mY5eekopTCbo

5. Define salt hydrolysis. Explain the hydrolysis of

potassium carbonate by giving ionic equations

° Watch Video Solution

6. Explain protonic concept of acids and base with

one example each

° Watch Video Solution

7. How do bases react with the following ? Write

the equations.


https://dl.doubtnut.com/l/_rBrA9Xpz501P
https://dl.doubtnut.com/l/_CDCLisQYwMjL
https://dl.doubtnut.com/l/_wgOJhpzLGyjw

(i) non-metallic oxide (ii) ammonium salt (iii)

soluble metallic salt

° Watch Video Solution

8. What is meant by neutralisation? Give some
examples identifying spectator ions in the

reactions.

° Watch Video Solution

9. What is the value of ionic product of water at

25° C'? How does it change with temperature ?



https://dl.doubtnut.com/l/_wgOJhpzLGyjw
https://dl.doubtnut.com/l/_qQcBKxo1kyDi
https://dl.doubtnut.com/l/_PMZz6FajmJ50

‘ o Watch Video Solution

10. Give pH range for various solution at 25° C.

o Watch Video Solution

11. Distinguish between acidic and basic salts giving

examples

o Watch Video Solution

12. Mention any four applications of pH



https://dl.doubtnut.com/l/_PMZz6FajmJ50
https://dl.doubtnut.com/l/_8or6Mg82ctLV
https://dl.doubtnut.com/l/_cmpl66XY2Skl
https://dl.doubtnut.com/l/_v0ZYuRPNgrci

| @Y Watch Video Solution

13. Define basicity of an acid. Give an example for

monobasic, dibasic and tribasic acids.

° Watch Video Solution

14. What is the difference between mixed and
complex salts with respect to chemical reactions?

Explain with an example

° Watch Video Solution



https://dl.doubtnut.com/l/_v0ZYuRPNgrci
https://dl.doubtnut.com/l/_N9py8r3QzxLG
https://dl.doubtnut.com/l/_dLxRAoRtoq0a

Essay Type Question

1. State the postulates of Arrhenius theory. Explain
with examples. What are the limitation of Arrhenius

theory ?

° Watch Video Solution

2. On the basis of ionisation explain classification of
acids and base with suitable examples. Classify
acids/bases on the basis of amount of water

present in the solution

° Watch Video Solution



https://dl.doubtnut.com/l/_WmcJSRYzSBPK
https://dl.doubtnut.com/l/_3tFIRBtuWiXx

3. Explain the formation of hydronium ion and

ammonium ion

° Watch Video Solution

4. Define salt hydrolysis. Explain the nature of
aqueous solution of the following salts on the
basis of salt hydrolysis.

(i) (NHy4),COs (ii) CuSOy

(iii) NaNOj (iv) CaCl,

° Watch Video Solution



https://dl.doubtnut.com/l/_3tFIRBtuWiXx
https://dl.doubtnut.com/l/_PWYAAS7ySISd
https://dl.doubtnut.com/l/_Yarx73atFomD

5. Explain with examples the use of NaOH and
NH,OH as reagents for the identification of

cations in salts

o Watch Video Solution

1. Formation of Co-ordinate covalent bond between

NH; and BFj is an example of neutralisation

reaction according to Bronsted theory

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_Yarx73atFomD
https://dl.doubtnut.com/l/_osKm3lqDjRMJ
https://dl.doubtnut.com/l/_rIj4m0VmTLVM

2. Adiacidic base has one replaceable hydroxide ion

° Watch Video Solution

3. For a dibasic acid, normality is twice the molarity

for a given solution

° Watch Video Solution

4.5 ? is the conjugate base of HS ~

° Watch Video Solution



https://dl.doubtnut.com/l/_rIj4m0VmTLVM
https://dl.doubtnut.com/l/_OUrGk6dXDneE
https://dl.doubtnut.com/l/_XYevlLDSYorG
https://dl.doubtnut.com/l/_2eoyWFtvnjLy

5. Methyl orange exhibits yellow colour in basic

medium.

° Watch Video Solution

6. Curd is sour in taste due to the presence of an

acidic substance.

° Watch Video Solution



https://dl.doubtnut.com/l/_2eoyWFtvnjLy
https://dl.doubtnut.com/l/_vl7EhZgQG2W3
https://dl.doubtnut.com/l/_wXfdN1QGqDIU

7. K350,. Al5(S04)424H,0 gives reactions of

both K™ and Al "3 ions respectively

° Watch Video Solution

8. Phenolphthalein is a/an ___indicator

° Watch Video Solution

9. The salt obtained by partial neutralisation of

sodium hydroxide and sulphuric acid is in

nature



https://dl.doubtnut.com/l/_UqXDgINmRSvD
https://dl.doubtnut.com/l/_nEmexgh9FyJA
https://dl.doubtnut.com/l/_JnZMQYuH6Y5X

| QY Watch Video Solution

10. Metallic oxides are either or

nature.

° Watch Video Solution

11. [H " of nitric acid having a pH value of 6 is _

° Watch Video Solution



https://dl.doubtnut.com/l/_JnZMQYuH6Y5X
https://dl.doubtnut.com/l/_cmQglhiKqV4k
https://dl.doubtnut.com/l/_LANo1I0JxkbL

12. The pH of aqueous solution of salt obtained by

the reaction between NaOH and CH3COOH is

° Watch Video Solution

13. A salt, X is prepared by the complete
neutralisation of Cu(OH), with HSO,. The

nature of X is

° Watch Video Solution



https://dl.doubtnut.com/l/_qQg0Eeqltavh
https://dl.doubtnut.com/l/_qfX6k9lvyBeh

14. The units of K, are

° Watch Video Solution

15. Which of the following is not a base according
to any of the theories ?

A. Mg(OH),

B. NHj

C.H,PO,

D. BF,


https://dl.doubtnut.com/l/_UAv1slKlQVol
https://dl.doubtnut.com/l/_s8hCa9Nv7lFf

Answer: D

° Watch Video Solution

16. According to Lewis acid-base concept, which is a

correct statement ?

A. Species in which central atom has completed

octet cannot act as acid

B. All negatively charged ions are acids

C. Molecule in which the central atom has

vacant 'd' orbitals acts as acid


https://dl.doubtnut.com/l/_s8hCa9Nv7lFf
https://dl.doubtnut.com/l/_DBGAWepTofi1

D. All positively changed ions are base

Answer: C

° Watch Video Solution

17. At a certain temperature, K, was found to be
1 x 10 "mol? / L*. At this temperature, a solution
is taken and red litmus is added to this solution.
The solution turned to blue. pH range of the

solution could be

A. between 5 and 7

B. between 7 and 10


https://dl.doubtnut.com/l/_DBGAWepTofi1
https://dl.doubtnut.com/l/_39F17UsA5yEM

C.less than 5

D.both 1and 2

Answer: D

° Watch Video Solution

18. Which of the following indicators is the best
indicator for the detection of end point in the
titration of CH;COOH and KOH ?

A. methyl organge

B. phenolphthalein


https://dl.doubtnut.com/l/_39F17UsA5yEM
https://dl.doubtnut.com/l/_Bnvefp9dU155

C. methyl red

D. none of these

Answer: B

° Watch Video Solution

19. According to Lewis theory, neutralisation is the

A. transfer of proton from acid to base

B. transfer of proton from base to acid

C. transfer of electron pair from acid to base

D. transfer of electron pair from base to acid


https://dl.doubtnut.com/l/_Bnvefp9dU155
https://dl.doubtnut.com/l/_biWYpp4gzUpL

Answer: D

° Watch Video Solution

20.The indicator that shows colour changes in the

entire pH range is

A. phenolphthalein

B. methyl orange

C. universal indicator

D. thymol blue

Answer: C



https://dl.doubtnut.com/l/_biWYpp4gzUpL
https://dl.doubtnut.com/l/_q9MfYmItZ0ej

‘ ° Watch Video Solution

21. Which of the following has the highest value of

pH?

° View Text Solution

22. Heat of neutralisation is less than 13.7 kcal/mol

for the reaction

A.HCl + NaOH — NaCl + H,O

B. H2SO4 + 2NaOH — Na2SO4 + ZHQO


https://dl.doubtnut.com/l/_q9MfYmItZ0ej
https://dl.doubtnut.com/l/_HoT8D1GFm5Jc
https://dl.doubtnut.com/l/_rr5tgP4wPeXu

C.HNO3; + NaOH — NaNOs; + H,0

CH;COOH + NaOH — CH3;COONa + H,0

Answer: A

o Watch Video Solution

23. Which among the following does not undergo

hydrolysis ?

A. Na2003

B.CH;COOH


https://dl.doubtnut.com/l/_rr5tgP4wPeXu
https://dl.doubtnut.com/l/_6hGvflARqfwE

C.CH3;COONH,

D. K550,

Answer: D

° Watch Video Solution

24. Which of the following acts as both Bronsted

acid and Lewis acid ?

A. Cu T2

B. SO,

C.Fe™3


https://dl.doubtnut.com/l/_6hGvflARqfwE
https://dl.doubtnut.com/l/_zCXZdZhWTe5D

D.NH,

Answer: D

° Watch Video Solution

25. Which among the following factors changes the

value of ionic product of water ?

A. change in temperature

B. addition of acid

C. addition of base

D. addition of either acid and base


https://dl.doubtnut.com/l/_zCXZdZhWTe5D
https://dl.doubtnut.com/l/_Lfv0duS7ozGk

Answer: A

° Watch Video Solution

26. Which of the following solutions has the same

concentration of H ™ ions as 0.1 N HC| ?

A.01N H,50,

B.0.3 N H; PO,

C.02N HNO;

D. All of these

Answer: A



https://dl.doubtnut.com/l/_Lfv0duS7ozGk
https://dl.doubtnut.com/l/_iJQpinpaHvV8

‘ ° Watch Video Solution

27. Which of the following cannot show acidic

nature ?

A. Hy,COs
B. CCLCO3
C.HCl

D. HSO;

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_iJQpinpaHvV8
https://dl.doubtnut.com/l/_v4qd6qDhUu0Y

28. The spectator ions in the hydrolysis

(NH,),COs3 are

ANH,  H" OH~
B.NH, ,CO3 ,H",O0H ~
C.CO; ,H" OH"

D. no spectator ions

Answer: D

of

o Watch Video Solution



https://dl.doubtnut.com/l/_cTGPKR5eGWTy

29. Disodium potassium phosphate is a/an ___ salt

A. acid

B. mixed

C. complex

D. double

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_GlXubqwEsDPZ

30. V7 mL of x molar hydrochloric acid is mixed with
V5 mL of y molar sodium hydroxide. Arrange the
following steps in correct sequence for calculation
of pH of the mixture. (y > = and V; > V3)

(1) Calculation of the number of equivalents of acid
and base

(2) Calculation of the total volume of mixture

(3) Calculation of the normality of acid and base

(4) Calculation of the net OH ~— ion concentration.
(5) Taking the negative logarithm of H ™ ion
concentration.

(6) Dividing K,, by OH ~ ion concentration


https://dl.doubtnut.com/l/_XC8SQeKTWjFt

A 132645

B.312456

C.312645

D.123456

Answer:

° View Text Solution

31. A strongly acidic solution is taken and a base is
slowly added to it drop by drop. Arrange the

colours observed during the process of addition in


https://dl.doubtnut.com/l/_XC8SQeKTWjFt
https://dl.doubtnut.com/l/_FIE9hMW3vnDk

proper sequence.

(1) green (2) indigo
(3) orange (4) red
(5) blue  (6) violet
(7) yellow

A3417256
B.4371526
C.4317526

D.3471625

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_FIE9hMW3vnDk

32. A red litmus paper when dipped in an aqueous
solution of potassium acetate turned blue. Arrange
the following steps in proper sequence to explain
the above observation.

(1) identification of spectator ions

(2) identification of free ions that caused the colour
change of the litmus paper

(3) identification of positive and negative radicals
(4) writing the net reaction taking place

(5) writing ionic equation for the reaction of

positive and negative radicals with water

A.35142


https://dl.doubtnut.com/l/_SzKoiF9W0IkB

B.31542

C.51432

D.53142

Answer:

o View Text Solution

33. Identify the species that can give both

conjugate acid and conjugate base

A.NH,

B. H,PO,


https://dl.doubtnut.com/l/_SzKoiF9W0IkB
https://dl.doubtnut.com/l/_LxoV1yz0IFRd

C. PO, *

D. H;O™

Answer:

° Watch Video Solution

34. The basicity of acetic acid is the same as the

basicity of

A. HNO;

B. H,50,

C. H,PO,


https://dl.doubtnut.com/l/_LxoV1yz0IFRd
https://dl.doubtnut.com/l/_9oSk1qbjgZAd

D. H,CO4

Answer:

° Watch Video Solution

35. Which of the following species cannot have
conjugate base ?

A HSO, '

B. HPO, *

C. PO, °

D. H,PO,


https://dl.doubtnut.com/l/_9oSk1qbjgZAd
https://dl.doubtnut.com/l/_WrX4sf87tPs5

Answer:

° Watch Video Solution

36. Which among the following pairs of acid and

base are weak respectively ?

A. HCOOH and NH,OH

B. HCl and NaOH

C. CH;COOH and KOH

D. HCIO, and CsOH

Answer:



https://dl.doubtnut.com/l/_WrX4sf87tPs5
https://dl.doubtnut.com/l/_oPHzdWWK46pE

‘ ° Watch Video Solution

37.The pH of 0.001 N sodium hydroxide solution at

25°C'is

A3

B.4

cC.Nn

D. 12

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_oPHzdWWK46pE
https://dl.doubtnut.com/l/_vu6HN0KOh5Wv

38. A solution turns methyl orange red. It can turn

the universal indicator to

A. violet

B. blue

C.orange

D. green

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ZnH8nGcI0K8q

39. Which of the following pH values at 25°C

corresponds to the strongest acid ?

A2

B.4

C.6

D.8

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_prMuTObV72PU

40. Which of the following during hydrolysis gives
an acidic solution in water ?

A. KNQO;

B. NH,CI

C. (NH,),COs,

D. KCI

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_D4s3xxeSzcxu

41. X is formed by the partial replacement of
hydroxyl groups of a diacidic base by an acidic

radical. The number of ionizable hydroxyl groups in

B.1
C.2

D.3

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_oN0xBRQX8WQV

42. In the reaction between silver nitrate and

sodium chloride, the spectator ion is

A Ag™
B.Cl™
C.NOy

D. All of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_cg4tYwI4Xgvz

43. Which among the following statements is false

?

A. Every protonic acid has its conjugate acid

B. Pair of Bronsted acid and base that differ by a

proton is conjugate acid-base pair

C. A substance that accepts an electron pair to

form co-ordinate covalent bond is an acid

D. Arrhenius theory is confined to aqueous

solution

Answer:



https://dl.doubtnut.com/l/_FK0ZLDYyasnZ

| o View Text Solution

44. Which of the following salts can produce only

two types of radicals ?

A. NCI,KCOg
B. CaOC(l,
CNH,HSO,

D. Na(NH,)HPO,

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_FK0ZLDYyasnZ
https://dl.doubtnut.com/l/_bVDRiDwxyxhe

1. Calculate the resultant pH of a solution when 20
mL 01 N NaOH is mixed with 20 mL of 0.05 M

Ca(OH), at 25°C

° Watch Video Solution

2. The ionic product of water is found to be
1 x 10 ®mol® /L* at 60°C.What would be the
nature of solution with pH = 7 ? Explain giving

reasons

° Watch Video Solution



https://dl.doubtnut.com/l/_nyc1IcurAIK0
https://dl.doubtnut.com/l/_24Obrae2CcjQ

3. Explain why phosphorous acid is not a tribasic
acid like phosphoric acid through both acids

contain three hydrogen in their molecules

o Watch Video Solution

4. What volume of 045 M H3PQO, is needed to
neutralise 60 mL of 0.60 N NaOH solution ?
(Assume that there is a complete ionisation of acid

and base)

° Watch Video Solution



https://dl.doubtnut.com/l/_24Obrae2CcjQ
https://dl.doubtnut.com/l/_5p2yH60Cbohx
https://dl.doubtnut.com/l/_M2pprGal06pX

5. Explain the nature of resultant solution when 20
mL of 0.05 M NaOH is mixed with 10 mL of 0.1 N HCl
solution at 25°C. When 10 mL of this solution is

diluted 100 times what is the change in pH ?

° Watch Video Solution

6. Account for the variation of acidic character with

increases in the oxidation state of central atom

° Watch Video Solution



https://dl.doubtnut.com/l/_M2pprGal06pX
https://dl.doubtnut.com/l/_A5uX2FNMvArQ
https://dl.doubtnut.com/l/_OmfqB6c29A9K

7. Two salts are dissolved in water separately. When
phenolphthalein is added to the two solutions, one
solution turned pink and the other solution was

colourless. How do you justify this ?

° Watch Video Solution

8. How many moles of NaOH must be added to 200
mL of 0.1 M solution of HNQO3 to get a solution

having pH value 2.00 ?

° Watch Video Solution



https://dl.doubtnut.com/l/_QHSCJ6JLNoKK
https://dl.doubtnut.com/l/_diAfgK4wDE0H
https://dl.doubtnut.com/l/_SrOhUv8ge8Y3

9. Explain the nature of the following salts:
(@) NaH3; PO, (b) NayHPO4

(c) Nas HPO,

° Watch Video Solution

10. An aqueous solution of Mohr's salt can give a
precipitate with NaOH or NH,OH. But the
aqueous solution of potassium ferrocyanide
cannot give a precipitate with both reagents. How

do you account for this ?

° Watch Video Solution



https://dl.doubtnut.com/l/_SrOhUv8ge8Y3
https://dl.doubtnut.com/l/_QosWvGyztZzb
https://dl.doubtnut.com/l/_sYz4u1jrCnF1

11. Two coloured salt solution of two metals A and B
gave precipitates with NaOH and NH,OH. On
further additions of NH,OH, the precipitate
disappears, in the case of B. There is no such
change in the case of 'A' either with NaOH or

NH, OH.|dentify A and B. Give equations

° Watch Video Solution

12. Compare and contrast the nature of aqueous
solutions of ammonium acetate and sodium

sulphate.

[ ° Wiak~hh \tAAA CAaliikian



https://dl.doubtnut.com/l/_sYz4u1jrCnF1
https://dl.doubtnut.com/l/_oTrpKCNLkwuS
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13. Find the pH of resultant solution when 100 mL
of 0.005 M H,S0O, at 25°C is diluted to 100 mL.
What is the amount of NaOH required to be
dissolved in 500 mL to exactly neutralise the above

solution ?

° Watch Video Solution

14. A strong alkali forms an acidic salt with a dibasic
acid. From the aqueous solution of the salt formed

on the addition of dilute acid evolves a gas that


https://dl.doubtnut.com/l/_oTrpKCNLkwuS
https://dl.doubtnut.com/l/_kl5QbLvMsiKB
https://dl.doubtnut.com/l/_hNmwNJGGheab

turns lime water milky. Identify the salt and predict

the reactions involved in it

° Watch Video Solution

15. Explain the variation in basic strengths of

hydrises of VA group elements

° View Text Solution

16. 14.3 g of NayCO3xH50 is dissolved in water

and the volume is made up to 200 mL. 20 mL of this


https://dl.doubtnut.com/l/_hNmwNJGGheab
https://dl.doubtnut.com/l/_lKEXN4GlVdEA
https://dl.doubtnut.com/l/_LWbATcBpKdzn

N
solution required 40 mL of THNO3 for complete

neutralisation. Calculate x

° Watch Video Solution

17.10 mL of TN HCl, 25 mL of 2 N H,50, and 40 mL
of X N HNOQOj5 are mixed and made up to 2000 mL.
100 mL of this solution required 30 mL of NaOH
taken from a solution containing 4 g of NaOH in

250 mL of solution. What is the value of X ?

o Watch Video Solution



https://dl.doubtnut.com/l/_LWbATcBpKdzn
https://dl.doubtnut.com/l/_SzyIlnQLxmfr

18. 8 g of mixture of NaNO3; and NayCOj5 are
dissolved and made into 500 mL of solution. 50 mL
of this solution neutralises completely 25 mL of N/5
HNOs. Calculate the precentage composition of

the mixture.

o View Text Solution

19. Do equimolar solutions of NaOH and Ca(OH),

possess same pH value at the same temperautre ?

Justify

° Watch Video Solution



https://dl.doubtnut.com/l/_8sSJXkpqRW4b
https://dl.doubtnut.com/l/_nuIvVVSa0yI1

20. Explain why no indicator can be used for the
titration between formic acid and ammonium

hydroxide

° Watch Video Solution

21. Sodium bicarbonate can be manufactured by
Solvary process where addition of brine solution to
ammonium bicarbonate solution gives
precipitation of sodium bicarbonate. But, its
analogue, potassium bicarbonate cannot be
prepared by the above process. Explain with

respect to the concept of solubility product


https://dl.doubtnut.com/l/_CXAyF5WjFxGh
https://dl.doubtnut.com/l/_HZIGSU5LfK4Q

° View Text Solution

22. Explain the acidic and basic nature of the
following substancecs on the basis of protonic
concept

A. H,50,

B. HPO, *

C. NH;

D.HN,"

Answer:

| ° Wiak~hh \iAAA CAaliikian



https://dl.doubtnut.com/l/_HZIGSU5LfK4Q
https://dl.doubtnut.com/l/_ZFOuSuWpesJ3
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23. All Lewis bases are Bronsted bases. But all Lewis

acids are not Bronsted acids'. Comment on the

statement

° Watch Video Solution

24. Find the pH of resultant solution when 100 mL
of 0.005 M H,S50, at 25°C is diluted to 1000
mL. What is the amount of NaOH required to be
dissolved in 500 mL to exactly neutralise the above

solution ?

| = 1


https://dl.doubtnut.com/l/_ZFOuSuWpesJ3
https://dl.doubtnut.com/l/_sHsUkTp8ZEc1
https://dl.doubtnut.com/l/_2dZ0oQWkaZ1r

| V Watch Video Solution

25. Explain the strengths of conjugate acid base
pairs of the following species.
(a) HSO, (b) NHj

() HS ™ (d) ClO;

° Watch Video Solution

1. Acetic acid contains four hydrogen atoms in each

molecule. Explain why it is not a tetrabasic acid ?


https://dl.doubtnut.com/l/_2dZ0oQWkaZ1r
https://dl.doubtnut.com/l/_fTkV1oA3fRcR
https://dl.doubtnut.com/l/_SJDlXu9VZ5rN

o Watch Video Solution

2. How do you account for the acidic nature of
10°% M nitric acid ? Justify by mathematical

calculation (log 1.1 = 0.041)

° Watch Video Solution

3. Though zinc and manganese get precipitated as
their sulphides, they do not get precipitated along
with lead or copper when H,S is passed through

acidified solution of their salts. Justify and also


https://dl.doubtnut.com/l/_SJDlXu9VZ5rN
https://dl.doubtnut.com/l/_dhHzlgt2whIZ
https://dl.doubtnut.com/l/_m6KQVIvsogcz

explain how the precipitation of Zn™? and Mz ™2

ions takes place

° View Text Solution

4. How does the acidic character vary among the
trihalides of boron ? Give a reason in suport of

your answer

° Watch Video Solution

5. Among H3PO,, H3PO3 and H3PQO, which has

the maximum acidic strength ? Explain



https://dl.doubtnut.com/l/_m6KQVIvsogcz
https://dl.doubtnut.com/l/_Sardyo6aYac8
https://dl.doubtnut.com/l/_OITC0fI9GicQ

‘ ° Watch Video Solution

6. Calculate the pH value of the 10 °M Hcl
solution when diluted by 100 times. Justify (log 1.1 =

0.041)

° Watch Video Solution

7. Why do both acidic indicator and basic indicator

show different colours in acidic and basic solution?

° Watch Video Solution



https://dl.doubtnut.com/l/_OITC0fI9GicQ
https://dl.doubtnut.com/l/_4jrL8OvQQeTZ
https://dl.doubtnut.com/l/_Cmu4obwJ7zDY
https://dl.doubtnut.com/l/_cZQXk7xjYhQN

8. A complex, salt with formula [Co(NH;)4|Cls
can form a white curdy precipitate with silver
nitrate solution. Another complex with same
ligands cannot form precipitate with AgNO;
solution. What would be the probable formula of
the complex ? Given reasons in support of your

answer.

° View Text Solution

9. Explain why the strengths of strong acids and

strong bases cannot be dtermined in water. How is


https://dl.doubtnut.com/l/_cZQXk7xjYhQN
https://dl.doubtnut.com/l/_2pCkIvE9i8nv

it possible to compare the acidic strengths in

acetic acid ?

° Watch Video Solution



https://dl.doubtnut.com/l/_2pCkIvE9i8nv

